3 9DIN

/ 712N



R°N/0V

ANYD NN

N'NN NIRYN ,m 1TO TV 1170 110 NXK NNOY TWNXD

o (llz —al™ )




21900 PXP10 DO

AN N, NXIAPN 2V NTINN PN foanm nmna n¥ap A C R™ hn
JJ¢ (a)] #0 nMmay a € A >nn
Amna oy f(U) napne 10 (U C A) a dv U n2°20 nn»p N

oo Mmoo LV =UV v v'nn U N Nprnvn ™12
l ' | '

Ji—1 (f (x) = (J5 (z) ™
ae U 520

JPOIPN 12290 [ IN DANNN K2 INIPY MarkIa Nt f ON ,MOINN D92

LSNPV NEM0N0 Y PO9INN N OMnn DV P2V NEMVD NtD A¥0a



:2937N

f(x,y,z) = (e"sin z, e cos z, e*Ty) gale

f~1 Svoapy nvon nn e L(0,1,0) nMpxa mmpn >0 f 2 o0

(0,e,0) N2

PNND

:f DwoOanpyn NIV NN aYM

\

e’ sin z () e’ cos z

(0 eYcosz —eYsinz

Z z

\ €Y e*x e‘zry )



(0 0o
0 e

Kl 0

N9 N PR f D 2% o'wi

1)

0

0 )

2apsy wow (0,1,0) nmpaa

LD—n Y N5Y NVIPKPIVTN 122 ND2HN NI 1t

TOIPHn N2AN f—w 52p) ,N210NN MEPNAN Vavn a5 195 J (0,1,0) # 0 ,9m5>

.(0,1,0) n2ava

J(0,1,0) = (0,e,0) :07pnn

MY L, f OV Py NYvn Sv oann N0 £ S ompyn n¥aon [ nyd

([] 0 1\

0 e 0

—1

\lﬂﬂ)

( 0

0

-1

0

1)

0

0 )



9N

AIPEPND 1T

r + 2x2 sin i r # 0
f(x) =
0 r=>0

0 NN 20nn Mna yop 922 y'nn NN f D DN
0»pnm k£ € N 5232 0 o o1

f((4ki1)w) g f((dkf:ﬂ)ﬂ)

/ ((4ki4)w) >/ ((4534?3”)

DMPNN 1N 21900 EPNSN Vavn 2% NIN NPN




PINs

A2TNAY MPYATIN DK MO0

f __z __z +2 __z s (2& +W) __z +2 2 2
= sin ( 2k — ) =
(4k+1)7)  (@k+ )7 \[@dk+ Dr "TY) T @k+r \@k+ )7

2 2
2 2 2 37 2 2
S N ST U RNy () . I Y PR
f((4;:+3)w) @137 ((4k—|—3)w) "’m( g 2) @k +3)7 ((4k+3)ﬁ)

OMPNNY Mo

2 - 2
(dk+3)7  (4k+1)7




2 Md

° 4 - in (2 il -
= S11 3 — =
Ak +4)7 Ak +4)= T (dk+4)n

2

@+ d)r

2

(4k +3) 7

+

U AYOIND AN o

9 2
(4k + 3)?‘1)

92PY NPPONIIN NNP DY

16k +16 > (dk+3) 7



MOV TPEPNAN 19 L (NND 1avN) NLINN NN Y'AM NN PNPNAY DYTY DN
AMN'Nn NN
9N Mt NI DPPN0N 1NY NN

2aPy £ oW NAtn NN 2AVN) ON
i

1—|—4:1:51[1%—2{3051 x#0

xIr

1 r =1

‘20Mm

1 1
lim (1 + 4x sin — — 2 cos —)

x—0 T I

DN NPN NN 107,07 NO



IO XPND

1970

D—-211y15n A = [a,b] x [e,d] > D ownna namm F(z,y) »nn

ON ,A 12502 z Yv mIND apNad y IR N1 F(z,y) = 0 nxnwnne nN
W 10 [e,d] yopa ey wa < x < b 93d

F(z,y)=0



TN

2r OV PPN Y NN NPTIN N ANNYN OND .y + gsiny — = 0 ANNWRN NIN

y YW PNPN9D r NN NPNT TTIA

L
T =y+ gsiny

:OVPNM y 222 NN PEPN N®
, 1
r =1+ Eﬂﬂsy =0

NPTINY NDHN PEPNS N2 W 193 ,N2a0 NPAPNS 1 L,IMPD Ly 220 Ay nataam
IO MEPNaD y NN



FMTAN OYYN DN ARNYN = AMNDN AINPNAN VaYN

(g, yo) NTPIN v D n22202 MM F AwNd F(z,y) = 0 nRnwnn nnm

F,(zo,y0) # 0 ,F(z,yp) = 0 o8y D=2 max1 F(z,y), F.(x,y), F,(z,y) DX
125N 0P N

A ={(z,y)||x — zo| <, |y —yo| <€}

gy = f(x) PON z 5¥ NNMIND PN ¥ IR NPTIN YN IRNYHNY T
Nty y = f(x) wspnam Fy(z, f(x)) # 03252 = 99 yo = f(ze) )2 MD
:DPPNM ,MarNIa




‘93N

T OV PNPNAD y NN NVPTIN ANNYNRN OND Lz¥ — gt — gy = 0 xnwnn anm
(2) nnoawn 0 ox o ?2(2,1) nTpan nava

N9
Flz,y) =a2¥ —y* —y PN
0 MATN ,NTMPIN N30 "NasEn F

-1 -
Fy=2%Inx —zy*™ — 1 F, = yz¥" ‘y"Iny
10N, MNT

F,(2,1)=2In2 -3 #0

mM2a02 z DV PPN NITIN ¥ 1901 ,0007PNN IMNDN PPN VIVN MNIN 12D
(2,1) nmpan
A0aVNN 295 NYd




DNNYN n—2 MINDN MNPNN VYN

NN 0NN n+ 1 5V wspna F AwRd F(xy, 25 ...,2,,y) = 0 nXnwn »Nn
A= (29,29...,29,9%) nTpan v D naaoa

n NN P R F(A) # 0 on F € C! qoun F(A) = 0 o»pnpv N
DY NMIND PPN y NN It N2°202 NPT IRNYNNY T

zi — )| < & TN
:DINYNN INY

Y :y(mhIQ---mn)

:DPPNNM DINYNNIN TAR Y 295 My NP ¢ ,q0Na

dy F,

8.’132' - Fy



‘9N

NNYN N

Y 4rz4+y’+e*—3=0

(1,1,0) nTpan N0 z = z(x, y) PPN NVTIN ANNWNON 2D IO

NN
T

Flz,y,2) =y’ +zz+y*+e*—3

F - 3‘7\ DIYNYVIHON ﬂ\f)'l‘?\’) ’97 ny ID)X)‘)N neNPnNos '7\’) DIDD NN 7”)” TPNPNON
| |



3 L,F(1,1,0) = 0 :07pnn 1PN

F,(1,1,0) =z +¢€*|(1,1,0=2#0

z = z(z,y) NOIND WEPND NPTIN PR ANNYHM ,DDPPNN VIYND PNIN 19N

(1,1,0) ';7an naraoa



9N

DY NNNIND NN NYN NINNYHNN MY g—i, g—; NN 1AYN ,0TIPN 9N Tvnna

L001N0N MEPNDN VAVYD 95 NN

N9
0b AN M Y3+ - 2 (2, y) + y? + e V) — 3 = 0 pnn ANNwna 1Man
AP T
z(e,y)+x 0 zp (2,y) + 22 (2, 9) Ce*@y) —
IMoD
Z
Zp = —
! T + e*

92PN ¥ 290 INNYHNN NN N NMT 19INA

3y* + 2y
T+ e-

2y =



IN0N EPNSN VAYD 95 13 TED

Z

T + e

Zy abplin)! T2 00T o AT



9N

ANNWNN (T9, Yo, 20) NTPI Sv D naaoa » o F(z,y,2) € CHR?) »nn
NPNPND 3 NVTIN

r=xz(y,2),y =y(z,2),z = z(z,y)

Bz . gu. 22 . yaun
Jdy 0z Oz

PNH
NN PEPNON DAY 290

Ox dy 0z ([ Fy\ (_F\ ( F)\_ _,
dy 0z O0r \ F, F, F,]




IRNWH 2W NOWNA? 7NN PPN VOWN

:0M%YI N+ m DY MNNYN m—2 RAmERD

Fi(r1,...,Zn Y1, Ym) = 0,1 <0 <m

NT2) v D N2°a02 0HDNwNn 22 85 MadNaa M) F; NrNpnon 9ov N

A= (@ a0

O—n v A nTpaa weapyim ¢ 935 Fi(A) = 0—w nod 30 md
MY NPXPND m NPTIN NOIYNN 1 N2avavy 10 A Sv U nanao no»p iR
NI

Yp(T1,....x,). 1 < k<m



0D AT WA

H"H NN OMON NINYN ab natom

‘ A(Fy1,....F)

5:{“: B MYty Ym )
f;}j;j Fy,....F)
ﬁl:yh---'ym}
NTMY NN Nabnn N2 "’:f{h‘-“"“”} NNMONN NN O, o) DNMONN WRD
MYty Ym ) Hyrse oo Tjoetm )

ALj 92 MAIN NTIMYA Y 292 MAItIN



‘93N

:N2AvNa an

u
e" " — = 2
Y 14w

W T u(x,y)—) ulz,y) NPANONIINT NPPNI DPTIN NOIYHN 2D i .1
w(l,2) =wv(1,2)

0

ONa
L0900 NIND DN ND»?Pn Doavynny 2171)

GPEPN9 PTA

U
1+ v

f(z,y,u,v) = (F1,F) = (ze"" + 2uv — 1, ye" ™" — — 2x)



(1,2,0,0) 20 15w TP
J(1,2,0,0) = (0,0) :0»pnn PN

OPPNM ,MaNa M) £y F5 Dw nanwn 55 a5 matan

). (Fy), e TV + 2p re TV 4+ 2u
Jf(]_?[].,[]) — ( 1] ( 1] — U—u 1 u—uv U
(Fi]u (Fi]v e 14w —ye -+ w

2223 MOV TP

=340
1 -2 7

v(z,y)—) ulz,y) NPYPND NPT NOIYNN 1IN ,DNPPNN VIYNN NN 9D 1PN
NN M)
DPIANKIIPT ONTND I MAPNID MR )W 11O



du(l,2) NN INND 2

NIND
Y92 .DMNYNRN MY A5 u DY NYPONRN MOtN NN avn)

(F1)e (F1)w eutv re' 1Y 4+ 2u
5_1.-1 _ (F2)z  (F2) _ —2 -yt A ﬁ?
Ejﬂ: (Fl)u (Fl)u _3
(Fﬁ)u (FE)U
MOV TP
1 1
-2 =2

I
I
.:.




1y 290

(Fl)y (Fl)y 0 re' 1Y 4+ 2u
ou | (B)y (Fa)y | | €7 —ye" "+ g
W | (F)u (F1), —3
(Fi)u (Fi)v
A0V TP
0 1
1 =2 1
- -3 3
Rkl
ou du 1
du(l,2) = a(l,?) -dx + @_y(LQ) cdy = —gdy



